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Math 20F.
Final Exam
December 7, 2005

Read each question carefully, and answer each question completely.
Show all of your work. No credit will be given for unsupported answers.
Write your solutions clearly and legibly. No credit will be given for illegible solutions.

1. Consider the matrix

1 -1 0
A=12 0 1
0 1 -1

(a) (4 Pts.) Find the inverse of the matrix A.

1
(b) (2 Pts.) Use the part (1la) to solve the system Ax = b, with b = { -1 } :
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2. Let T : IR? — IR? be a linear transformation given by

xr1 — 2£L'2
T(l’l,.TQ) = 3371 + T
)

(a) (2 Pts.) Find the matrix A associated to the linear transformation 7" using the
standard bases in R* and IR*.

(b) (2 Pts.) Is T one-to-one? Justify your answer.
(c¢) (2 Pts.) Is T onto? Justify your answer.



3. Let B = {by,by, b3} and C = {c;, s, c3} be two bases of IR*, and suppose that
Cp = b1 — 2b2 + b3, Co = —b2 + 3b3, C3 — —2b1 + b3.

(a) (3 Pts.) Find the change of basis matrix Pg.¢. Justify your answer.

(b) (3 Pts.) Consider the vector x = ¢; —2cs+2c3. Find [x]g, that is, the components
of x in the basis B. Justify your answer.



4. Let s be a real number, and consider the system

STy — 287 = —1,
3ry + 6sze = 3.
(a) (3 Pts.) Determine the values of the parameter s for which the system above has
a unique solution.

(b) (3 Pts.) For all the values of s such that the system above has a unique solution,
find that solution.



5. (a) (4 Pts.) Find all the eigenvalues of the matrix,

3 -1 1
A=1]1 1 -1
2 =2 2

(b) (1 Pts.) Can you decide how many linearly independent eigenvectors has this
matrix without actually computing them? Justify your answer.



6. Let V' be a vector space with inner product ( , ), and associated norm || ||. Let x,
y € V, where x is and eigenvector of a matrix A with eigenvalue 2, and y is another
eigenvector with eigenvalue —3. Assume that ||x|| =1/3, |ly|| = 1 and (x,y) = 0.

(a) (3 Pts.) Compute ||v|| for v =3x —y.
(b) (3 Pts.) Compute ||Av|| for the v given above.



7. Let A be a 3 x 3 matrix with eigenvalues 2, —1 and 3.

(a) (2 Pts.) Find the eigenvalues of A~1.
(b) (2 Pts.) Find the determinant of A.

(c) (2 Pts.) Find the determinant of A~1.
(d) (2 Pts.) Find the eigenvalues of A% — A.



(a) (3 Pts.) Find a basis for both the null space and the column space of A, where

1 -1 1
A= -2 1 -4
0o 1 2

(b) (3 Pts.) Find a vector v € IR? such that the column space of A be equal to the
orthogonal complement of v.

(c¢) (3 Pts.) Find an orthogonal basis for the column space of A.



9. (3 Pts.) Find an orthonormal basis for the subspace of IR* spanned by the vectors

—2 1
u; = 2 y U = —3 ’
—1 1

using the Gram-Schmidt process starting with the vector u;.



